
418 DETERMINANTS.
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Show that the value of a determinant formed like the

above, but with m units and n zeros in each line, is

m if w be prime to n, but is zero if m be not prime

to n.

299. If {a,h,cJ,g,h){e<i>,e^<i>,iy=^0,

and {a, b, cj, g, h){<l>x, <^+x> 1)' = 0»

find (a, ft y, K, A, ,x)(Ox, ^+X> 1)' = 0,

and show that if

a = a, P=b, y = c, k=J, \==fjf, fi = h,

then will

ac-{-b'' + 2hg-ifh = 0.

300. The minors of order 2n — l of a skew symmetric

determinant of order 2n are divisible by the square

root of the determinant.
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